Missing Numbers

(500) + 500
600 +( |
() + 200
30 + ()
() + 700
900 +( )
() + 400
o0 + (|
() + 100

Fill in the missing numbers

= 1,000 990 + [ |
= 1000 () + 910
= 1,000 940 + [ |
= 1,000 () + 950
= 1,000 990 +( |
= 1000 [ )+ 975
o0 o5+ ()
= 1000 [ )+ 999
= 1,000 998 + ()
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Missing Numbers

(500) + 500
600+ (400]
+ 200
300+ (700)
+ 700
900 + (100
+ 400
800+ (200]
+ 100

Fill in the missing numbers

= 1,000 990 +
= 1,000 + 910
= 1,000 940 +
= 1,000 + 950
= 1,000 990 +
= 1,000 + 975
= 1,000 925 +
= 1,000 + 999
= 1,000 998 +
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